AF-2042 BCS4A4

B.Com. (C.S.) DEGREE EXAMINATION, APRIL 2010
Corporate Secretaryship
HUMAN RIGHTS
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 =20)

Answer All Questions.
All questions carry equal marks.

1. Define Human rights.

wesfls 2_flemissit euemmwIm).

2. State any two United Nations Bodies in human rights.
esllg 2 MemDaEhEHSBTEN .. HEWLDLIL|&S6M6d eTHTelNs| STCTTIEmn6us,

565

3. What do youmean by convention of human rights ?

evlls 2_lewLDEET FTEF6IILD ET63TMITED eT6dTEDT ?

4. Define Human Rights Charter.

wevflls ©_flemLba6it &1L LD euemTuwim).



10.

What is meant by international convention ?

LIGSTEDTITL (B STEF6VTLD 6TE3TMITED 6T63TE0T 2

What do you mean by economic rights ?

QINIHETTSMT 2_flemLDEET 6T63TMITED 6T6DTE0T 2

Define child rights.

GLPHENS 2_MenLDSEIT eUEHIWIM).

What do you mean by racial discrimination ?

Bev1l1 GUSLD eT60TDITEL 6T6dTET 2

What is cruelity ?

6\BITIQUI G6VUTLD ETEITMITED 6T60T6T 2

Define Detention.

SMeu6dl6b 6MEIG;SH60 CUEDTLLIM).
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Part-B (5% 5=25)

Answer All Questions.

11a. Explainthe role of United Nations Commission on Human Rights.

&2.m5m.6fl6tT evflls ©_flemibasit & efllett LimiBement sM6T&:&s.

(©n)

b. State whether India is lagging behind in the protection of human
rights. If so, what measures do you suggest to rectify the same.
LDevfla 2_rflemipaemerl LITgISMLILIBE GBS NTTSHIS 2_6TeNST 6T6iTLINSE

Samis. Slsuaunm) etesiled Siews &l O\FIILI BIT FamILD IBLEUIQSMSHEHET WIT6ne ?

12a. Bringoutthe salient features ofuniversal declaration of human rights.

2_svsevrefill LDevfls 2_flenlps 6T Fnaensdent ApLILILIEOLSENETS SHS.

(©r)

b. Differentiate between covenants and conventions.

aUEnTEYMISS6IT DHMILD FMEFEUThISHEN6T COUNILIBHSIS.
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13a. Write a note on international covenants on human rights.
wefls o Membsenssner LsTem G auenraniSssT LUhHM @m Gl

61(LD&15.

(©n)

b.  Givean account of Civil and Political rights.

Sleu|femLd HMID HTHuied _Memipaeit LD @ LDSLILEDT S[HsS.

14a. What steps the government has taken to prevent child labour ?
GLRIHENSS E\STLHEOMETT (LPEDMEBIIS. SH6TES: TS ETEI6T [HLOUIQEEDSHSHEIT

GLme\sTesTBeTeng) ?

(©n)

b. Whatis note:on Rights of women.

a6t 2_flenibaeit LD @6 SMILIL| eTLDEIS.

15a. What do you mean by punishment. Bringout the reasons for it.

SHEVUTLEMEDT ETEITMITED 6T6ITET ? HSDSHTET HTTCTTTHISHEW6NTE H(H.

(On)
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b.  Giveabrief account on convention against inhuman treatment.
wefllgss56TmbWDD BLEMSEHES aSIMTeN FnFerbd LM @ ABw

LDSLILEDT S([HS.

Part-C (3.x 10 =30)
Answer any three Questions.
All questions carry equal marks
16. Describe the history and development of human-ights under the United
Nations.
g.m.efler £ wells 2 Memisefiesr auTedmm WHMID PETCRTHNSEDS

efleurfl.

17. “Universal declaration of human-ights is a Magna Carta of human
rights and freedom” - Comment.
&mauGse evlls 2 MenbseT-gnsed Wesflls 2 MenbseT HMID &SHHSTLD

G&N&S @ GLOGETT SHMLTSHLGLD - Spestmiis.

18. Narrate the salientfeatures of international convention on economic,
social and cultural rights.
QUINIHETTSIT, Feps DOHMID Heonssny 2 _MenssT GNs5s LeTemTLBe

gngensHett AmLifluieoLsener efleurfl.
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19.

20.

Explain the contributions of international convention on the elimination
of all forms of racial discrimination.
616060 EUEDSHILITEST RETLILINGSUTBHWT RPSHS LI6TesIM B sngesmiseriies

ursiserfllienL 6flens@&s.

Examine the guidelines of Supreme Court to law enforcing officers.
FLL DIDEOMHS AHNEUDSHTHEHSHS 258 HHDTINEH6nT eufHTBSHe0

(PEOMSHEWET SpIMUIS.

*k*k
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AF-1617 BCS1C2

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

First Semester

Principles of Management
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Part-A (10x2=20)

Answer ALL Questions.

1.  Definethe term Management ?

GLDEOMETITEWLD ET63TM 6)FMELEVI6DT EVSHBETILD &([HS.

2. Write anote on middle levelmanagement ?

BenLBemeo GLoeometorenid LD GMILIL| 6TLPS.

3. What are Procedures ?

BEML(LPEDMESIT 6TEITMITED 6T60T6BT 2

4.  Whatis meant by Internal Policy ?

SN&:E CIBITETENS; ETEOTLISHEI GILITIRH6IT 6T6T60T ?



10.

Define Organisaton ?

SiewLDLIL| euemIWIM ?

What is delegation ?

RUILIENL6) 6TERTMITED 6T60T6uT ?

What do you mean by Motivation ?

QFWLIAYTEHLDETSS60 6TEATLISEH IMBET LDl 15 infeug eetrewt ?

What is MBO ?

MBO estrpmed erstreot 2

Define Control.

SLELUNG euenIUIm).

What.is:Management Audit ?

GLDEOMETITEMLD S6T0115:608 ETEBTMTED ETEITENT ?
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11.

12.

@)

(b)

@)

()

Part-B (5% 5=25)

Answer ALL Questions.

Explain briefly the nature of Management ?

GLDEOTETITEMLDUTNEDT H6TTEMLDEWIL Sr(HEHSBLDNS 66

(On)

What common functions do all Managers perform ?
Explain briefly.
SHEn6u15,5| BLDEOMENTITSHEIHLD ETEITE0T LIGTOllS6m6ITS: GILIMSIETS

C\G6TBEIDETTIT ? Sr(HEHSLDNS 6fl6eNsS

Discuss the advantages of Planning.

SLLLOL60l65T [hedTEmLDS6M6IT 6ffleurts.

(©n)

Explain the steps to make planning effective.

Abs S LGS0 ESsT6 audsHenar eNaTsd.
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13.

14.

15.

@)

(b)

@)

(b)

Write a note on Span of Management.

GLD6ITETITEWLD ULDL| LD GMILIL| 6TLDEIS.

(On)

Distinguish Delegation from Decentralisation.

RUILIDLENE LIT6U60Ns&S560(hbE CaumiLIBSS!s.

Explain the characteristics of direction.

BWsES60165T QUIEOL|HED6T 66THS.

©n)

Discuss briefly Maslow’s hierarchy of needs.

Lomerv@eorsiledr G emeuudlssr uflensLILIBE56meD S (HS&LDTS sileuns.

\What are the characteristics of a good control system ?

@ 5606 BLGLILIMLG pemwmuilest SuIeoL|G6T Wimeneu ? eflamas.

(On)
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16.

17.

18.

19.

(b) Write anote on Budgetory Control.
SLLLLLIQUIEd LIHM) SMILIL 6TLpa;s.
Part-C (3x10=30)

Answer any THREE Questions.

Explain the importance of Management.

GLoeomenaTemLDUTE (WpSBWSFHIOIHNS 6N6THS.

Discuss the various steps involved.in the process of planning.

SLLISIL6O Q\FUWIEL (Lpem QSMLITLITEN LisoGeum) auflsener efleuns.

What are the factors that-determine the degree of decentralisation ?
Explain.

LITeuevT&:S6060T SieTeneud SToneslls@Ld snrewnflgs wirene ? 606m&ds.

Discuss the qualities of a leader .

R Semeverfler LievorLsemen sfeurfl.
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20.

“Control is a fundamental of management functions that ensures
work accomplishment according to plans ”. Analyse the statement

and outline the essential steps involved in the control process.

“BrLmsefietr Lig Lewll BeDCaHNSDS 2 NP FUILD BLOEOTETITEDLOL!
uewflufielr SleliLedLBW &LEUUTG . 8hES Sahedn Dbliiey OFLIg
SLEUUTLE BewLapempmuiled 2 eTemr QeiTMIWEDIDUING &L L IKI& D6l

SOUNGS.

*k%x
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AF- 1618 BCS2C1

B.Com.(CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

Second Semester
MANAGERIAL ECONOMICS
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part- A (10 x 2 = 20)

Answer ALL the Questions.

1.  Whatdo you mean by Utility ?

LIWIESTUIN( 6T6sTLIS 6T epeoLd BT Hinfleug wing) ?

2. Givethe meaning of Supply.

SterfllN6sr OLIMBSIT S[H.

3. What s the difference between Producer’s goods and
Consumer’s goods ?
2_pugSuinernit LDOHMILD HISTEEUMT OLIMIHETHEHSHBMLEW _aiTerr

GaumLITGS6IT Wrene ?

4. State the law of demand.

Gz eme eflHemuls (5.



10.

Define Perfect Competition.

BenmeyLiGUILIY euenIWIm).

What do you mean by monopoly market ?

WPOHNIMEDLD RIS eTEITLIGZET eLpeold BT Jfleug wingl ?

What is Price discrimination ?

sflemeoLs BUSLD eT6dTMITED 6T6dTERT ?

What do you mean by dual pricing ?

SrLenL sflemeoulBgev eresTLIGe0T eLpeold Bt Snfleug wing) ?

Define Business Cycle.

aumenofiug sLpHEl euemIwIm).

What.s Business Policy ?

6UMTETTTILIS E\BTETENS ETEITMITED 6TEOTENT 2
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Part-B (5x5=25)

Answer ALL the Questions.

11. (a) Distinguish between Economics and Managerial
Economics.
awm@perfluied oHmILD GLoeomettTemLDLI E\LIT(H6rflULemeD

GamLBSHSIs.

(Or)

(b) What are the various classification of Wants?

eflpLILMISefl65T LOGEUN) CUEDSHS6IT WiTewe ?

12. (a) Explain the nature of demand for Company’s products.

Bmioll OLTEEssTen Caenauuisit SuicoLlenen eflems@s.

(Or)

(b) Distinguish between Derived demand and Autonomous
demand.
eupLULL GHemal HMID SetTeollFengwwimesr Csemeeni

GamLBGSsIs.
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13.

14.

(a)

(b)

(a)

(b)

Explain the different classifications of markets.

Simismeuileir LebGeun) eUMSLILITBSHEM6T 606185 Es.

(Or)

What are the features of monopolistic competition ?

wpomifleniols GumLipuilest ApLINwedL&eT wimemen ?

Explain the Price equilibrium under very short, short and
long periods.
H&ss GMBw, GnSw bOMID BewrL smeo eflemeos

gnBemevenw 6MensE&e.

(Or)

State and explain the three degrees of price discrimina-

tion:

eflemeoll GUsSBetT cpeiTm) LiRBemevg:enst sam) eflens&s.
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15.

16.

17.

18.

() What are the characteristics of Business Cycle ?

eumenoiiug gpmdulesr ApLifweoLSeT wrener ?

(Or)

(b) Explain the social consequences of Inflation.

LI6uuT6l 888560 eIHLIBLD FeLps: 6HleneTey&emer 616 @s.
Part-C (3x10=30)
Answer any THREE .Questions.

Explain the nature and scope of Managerial Economics.
GLevmetTemLbLI LIMB6rfluledledr GuiedL] LDHMILD EUEDIT ETEDEHEVSEMET

NesG 5.

Describe the Law-of diminishing Marginal Utility.

SODHE 61F60 Bmid Bemeolt LwesTLIMG eflfemwt effeurfl.

How Price and Ouput is determined under monopoly market ?
wphniflenid Fhenguied eflemed DHMID ©_MHLIGS ereueumm)

SneflssIL@GSng ?
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19.

20.

Describe the Price-output determination under discriminating
Monopoly.
sflemeo IGLGID STLEW WPpHMMend FHenguled eflewmev-2 HLsS

SnellsaliL@eiens efleur.

Define Inflation and analyze the measures that could be adopted
by the government to contain inflation.
uewrelis LD euenIW M WHMID Lewrelisss5ms &LEBLUGSHS HTEMED

GLMASTETETLILIBLD [BLENIQSHEDHSHENENT ShTMUIS.

*k%
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AF-1619 BCS2C2

B.Com. ( CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

Second Semester
ADVANCED FINANCIALACCOUNTING -1
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
Section - A (10x2=20
Answer All the Questions:

1. What are the limitations of single entrysystem ?

RDEBM LIS LPemMUINET SEWDEET WITEne ?

2. What are the methods of calculating profit in single entry
system?

RDewn LI Lpemmufled BeonLigems seuoréSBLD cuLdls6iT Wimeney ?

3. What do you mean'by Independent Branch ?

SHeullsAWIkiGLD Semer LN AT Sinfeug) eresrewr ?

4.  What is accounting entry for goods sent to branch ?

SM6IEHEG CWIMBETEH6T AHSQILILLDBLINGI OFUILILD LiSen6 61(pg)I ?

5. What is meant by Insolvency of Partners ?

CIBMEEs BLIMEST Snl'LTer 6T6TLISEST EILIMIBEIT eT65T60T 2



6. What is mean by minimumrent ?

GSODHSLILE uMLens LD HefiT Sineug) eresrewt ?

7. What do you mean by Royalty ?

&5356ma Ll BefiT Dinfleug) wimemex ?

8. What is instalment purchase system ?

SHEUHETTT EIEIT6ITLPGED (LPEWID ETEITMITED 6T6IT6BT 2

9. What is Short workings ?

LIDMTEGSEDD 6TE3TMITED 6T60T60T ?

10. What is mean by Repossession.?
SBIDLIL ELIMEEH eT6mITeD 666 2
Section - B (5x5=25)
Anwer ALL The Questions.

11.a. Find out profit fromthe following data :—

Rs.
Capital at the beginning of theyear ... 9,00,000
Drawings during the year .. 2,80,000
Capital at the end of the year ... 10,00,000
Capital introduced during the year ... 1,00,000
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SSETEILD 58616060 (HHG| OMLISENS HETTSHHDBS. eI

6T (LPS6016D 2_6IT6IT cLPEVSEDTLD . 9,00,000

TBLLIL| Dp600TIQ60 eT(BLIL .. 2,80,000

Sb600T(B (Lplgeflled ©_6iTeT eLPELSEBILD .. 10,00,000

IBLLIL| Sp600TIged QFQISSLILILL cpesestd ... 1,000,000
(On)

b. From the following information ascertain;opening stock [i.e.

on 1-1-2008] :(—

Rs.
Purchase made during 2008 2,50,000
Sales made during 2008 3,25,000
Stock on 31-12-2008 60,000
Wages 3,000
Rates of gross profit.on cost 25%

SSENEID &86u6086f60l(HHS SpIDL FISSHLMU ST, (DISTeug)

1-1-2008 Sietm)

b
200860 6\&TET(LPS6D 2,50,000
eflhLiement 3,25,000
31-12-2008-6b Frad(HLIL 60,000
a6 3,000
SIL56fMemeouled (BT 60MLILD 25%
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12. a. What are the procedure for preparation of Departmental
Accounts?

glewpeunls: &emrsE&S6T SUMTLILISI6TT HLAPEHNHENU Famis.

(Or)

b. What are the objects of branch accounts ?

HeW6ITS: SHEMTEHGSS:6rl60T CIESHSMHIGHEIT WITEnE ?

13. a. What are the difference between Insolvency of an individual and
Insolvency ofa firm ?
SesfiBLIT HeuneonaisHE&LD @ Fal LITeirend Salmeomausna&Ld 2 eTer

GaumILTBSHET WTene) ?

(Or)

b. Why do you prepare a.deficiency account ?
6T 67631 LIHMTEHGSEMMD HEMTSHENS SWITT OFUILIGEUTITBLD ?
14.a. What are the specimen journal entries for loss of stock?
168U Heiel 58 & W wndfl Wwsh&HILIGULL 5Hs.

(Or)

b. Write short notes on sub - lease.

2 61 §53608 - S G| 6uenIs.
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15. a.

b.

Mr. Kannan purchased a machine on hire purchase system
Rs.3,000being paid on delivery and the balance in five instalments
0fRs.6,000each payable annually on 31st Dec. The cash price
of'the machine was Rs.30,000. Calculate the amount of interest
for each year.

B(b. SHerTemIedl, R(H BWIHHTHENSG CUTLENS C\&METAPSH60 (LPpemmuiled
@h. 30,000 && \&MEMAPSHL NFUISHH6, (h3000 2R BWHBIS DS
QLIS STERTL AHTC 1Tyl L. 58 A5 mensemw ob. 6000
6fi51D &b &) DheTTBHEHEHS LeFLDLIT 31 6T 6156015 HefBeur. Qeueeurn

SpeTT(BLD E\HTENSHESHTET CUL QWL ST EHS B

(Or)

A television set cash price of which is Rs.18,000 is sold on hire
purchase system for Rs:20,000 payable in 4 Quarterly
instalments of Rs.5,000 each. The first payment is made at the
end of the first quarter. Show how interest is calculated.

R O\SMEMEOSHEHTLS EILILIQ, O&:s eflewsouded ef 18,000 LOSLILEDLILIG).
SinG QUMLENS CSMETAPSHED WpewDUTed 4 &m6d SpeTB&HS eh 5,000
eigb, eh, 20.0006@ ADSLILILLF). (LPHED HEUDENT E\FQSHBUIG (LPSHED
&M60 ShetTB (pigefled eullpeml eTeueUTM| HewursHEBOUMUI 6T LIMS

65l
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Section - C (3 x10=30)
Answer any Three Questions.

16. The position of Manohar’s business as on 1st January 2008
was as under: Sundry Creditors Rs.1,70,000; Freehold
premises Rs.5,00,000; Stock Rs.2,50,000 ; Sundry Debtors
Rs. 2,00,000 ; Furniture Rs. 20,000.

An abstract of the cash book is given below:

Receipts Rs. Payments Rs.
Sundry Debtors ...1,50,000 Overdraft (1-1-08) ... 1,00,000
Cash Sales ...8,00,000 Expenses ... 5,00,000
Drawings ... 30,000
Sundry Creditors ... 2,00,000
Cash in hand ... 20,000
Cash at Bank ... 1,00,000
9,50,000 9,50,000

The following additional information is available :—

Closing stock Rs.3,00,000; Closing debtors Rs.2,50,000
Closing creditors Rs.1,20,000; No additions were made
during the year to premises and furniture but they are to be
depreciated @ 10% and 15% respectively. A bad debts

provision of 2.5% is to be raised.
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Prepare a Trading and Profit and Loss Account for the year ended

31st December 2008 and a Balance Sheet as on that date.

gevraufl 1, 2008 Setm) BeurMaT erssrLieufletT efwimumy [Beweo HGLp

QBIBSELILIL B6Teng) :—

ubLeo SLesHEESMT  efb. 1,70,000 ; 6fl6060MmISLEE060T &S GIS6TEH.S5,00,000 ;
Fr&SmLUY B 2,50,000; LIDLIED SLETT6NTTES6IT B 2,00,000

SHEWMEH606T ¢p 20,000.

6N a1® SGL OETESHSLILILBeTeng)

6UT6YS561T ) 6)FEVEYSH6IT. )

LDLIED SLevTTe a6 ... 1,50,000  GLoedeuenILIHm) 1,00,000
(-1-2008)

OIn&s eflhuemest ... 8,00,000 \F606YSH6T 5,00,000
ST@BLIL|S6iT 30,000
LbLed sLeofib@smT 2,00,000

6UT6YHET ) 6)F6V6YSHET )
m&UT6d 2_6iTerT I E:ELD 20,000

aImiBuleo 2_eter O\gn&&d  1,00,000

9,50,000 9,50,000

Sp& SMEWID SHaI&H6T O&TBSHSLILLB6ToTer. dlgelled LY
@b 3,00,000 ; wipefled sLeTaT&6T oh 2,50,000 ; (wpigefled SLevTbEHMIT

@b 1,20,000. eleusfisonen sa(B560 GUEMTEHAPLD WHMID WM EEV6H
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aDLUBSSLILL6fMedeme. Spevrmed GHUIDTEND wWemDEW 10% HMID 15% erest

SETSHSLLILILL ). UINSHSHLEDISHHTEN RSISHEG 2.5% HNSSLILGSSLILILLE).

le&LbLIT 31, 2008 &&nest eMWIMLITT HMILD 60ML BLL &H6Tr&Hems SWmiss!,

BmLiLBemevs GMILienLLLD Swimflaseib.

17. The show room had two departments, cloth and readymade
garments. The readymade department used the cloth supplied
by cloth department at its usual selling price.. From the following
figures, prepare Departmental Trading,. Profit and Loss account

for the year ending 31-3-2008.

Cloth Dept. Readymade Dept.
(Rs.) (Rs.)

Opening Stock on 1-4-2007 « ... & 3,00,000 50,000
Purchases ... 20,00,000 15,000
Sales ... 22,00,000 .. 4,50,000
Transfer to Readymade

garments department ... 3,00,000 --
Expenses <Manufacturing -- 60,000
Selling 20,000 6,000
Stock 31-3-2008 .. 2,00,000 .. 60,000
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The stock in the readymade garments department may be

considered as consisting of 75% cloth and 25% other

expenses. The cloth department earned gross profit @ 15% in

2006-07.General expenses of the business as a whole

came to Rs.1,10,000.

R Gepmepllied Hlewll OHMID DHUSHS DpewLS6T el6iTm B 6vor®

SIDDEET BHEBETDEN. SpUSS DhEWLEHEHSHE CHEMEUILITE 5l6wfls6iT

Slemensg|b glewll sewpuledllmnas g6 eflhuenen eflemeoufed

ABwsH el geonmsd ApasiuGEng. £Cp O&MTEHSLILLL

sflupruseledlpbg 31-3-2008 Speu0r(B&s 6T SMLITLITT LDHMILD 60 [BLL

HEWEG ST O\FUIS.

OBTL&S gL 1-4-2008
E\BIT6ITLPEHE0
eflhLieneor
DHUWES DB SSIODEES
LMHPI FT&HS
smurfliiL] Q\&FeveyseiT

eflHLIEmEsTE 61FE06)SH6IT

BmiBE FrsdmLy 31-3-2008

&levofl
&l6mD
¢Ib.
3,00,000
20,00,000

22,00,000

3,00,000

20,000

2,00.000

SHWSS
DL SSIEDD
.
50,000
15,000

4,50,000

60,000

6,000

60,000
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SHUISS SHeOLE6IT HlewMUied Bh&HGSLD STHSBLILN6D 75%, SlewlwmsaL,
25% GLME\EFevaISEHLD LTS SHSSDE! 6160TM) H\&T6iTsH. 2006-07-60

Slevllsgemm ufed FLIQWI 6ILDMES GOMLILD 15% 616018 E\SHIT6ITS.

eMMUMTSS6d eTMLILL OILINGIGUTETE\F606&6T ¢ 1,10,000.

18.  Following is the Trial balance of Raman who Commenced business

on 1-1-2008 .—
Rs. Rs.
Cash 2,300 Creditors 1,80,000
Stock in Trade 6,660 Secured Creditors 25,000
Debtors 1,30,000 Preferential claims
forrent,rates & taxes 1,900
Furniture 2,820 Capital 13,500

Investment in shares . .+.5,000 Profit (2006, 2007) 55,540

Value of securities held Loss (2008 ) 25,000
by secured creditors 35,000

Drawings
(Up to 31-12-2008) 69,160
You are required to prepare Statement of affairs and deficiency

account .—

10 AF-1619




ILD63T eT6dTLIoUIT 1-1-2008 Dh6t01(B SpILbLisaiLLL efumumysdesr

SmLumiie] OsTESSLILLB6Tong).

¢Ib ¢Ib

6\IM&&LD 2,300 s&LefBEHMT 1,80,000
efwimuny GapLiy 6,660 LmgSILILITE

sLev TGS 25,000
sLevmerflseT 1,30,000 wsirenflenip 6\5mens; 1,900
SIEDMSHE060T 2,820 auLews;, sflenev, 6urfl

ELPELS6BTLD 13,500
LMThIB6d WP&H65B 5,000 eonub (2006, 2007) 55,540
UMGISTILITEST SLevlTbSHMT
eupLLLL ursidedr P 35,000 mBewLld R008) 25,000

a@L B31-12-08 auewy)) 69,160

Beweo HM&ewas LDHMILD LIDMMEGSENN S6T0TEES SbSIeUDHenn SWfl&se]Ld.

19. A company leased-a colliery on 1-1-2005 at a minimum rent of
Rs. 20,000 merging into a royalty of Rs.1.50 per tonne with power
to recoup short workings over the first four years of the lease. The
out put ofthe colliery for the first four years was 9,000 tonnes;
12,000 tonnes, 16,000 tonnes and 20,000 tonnes respectively. Give
Journal entries and ledger accounts for four years in the books of
lease and lessor.

@G BOIDLD 1-1-2005 ST V(B [Be0&:61M HITRIESWS GSSWHHE TBSSI,

a@B&SUILEGLD [Beossifl LeiT R60TNIHES ¢h 1.50 &556M8 S\STEDSWITSHE|LD
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20.

GSOPHS JH6Me| QIMLMSHS (B 20,000 eeviayb BiewrulssILLrLgl.
@YD LHDTSSEDD DLIRET (LPHEL BeiTd Shetr@serfed Hpbu &ifl
Q\FIG| E\SITETATOID (LPSED [BITENTS SheTBSHEBENLIW 2 HLSS pennGIL
9000 LeigsiT ; 12,000 Lebtseit ;16,000 Leitaseit pmid 20,000 LetT&6iT.
IB60TES SheTT(BSHEBHS SMILIGLIG LHMILD CLGIL ML G&556m8 S\SHTBLILIGUT
LDOHMID GSSema aLihmeuflesr ex@aerfled euemms.

On 1-1-2005, a firm purchased a Truck on instalment system. The
cash price of the machinery was Rs.11,175 and payment was to
be made as follows :—

Rs.3,000 was to be paid on signing of the agreement and the
balance in three instalments of Rs.3,000 each at the end of each
year. Interest at 5% is charged by vendor. The firm has
decided to write off 10% annually on the diminishing balance of the
cash price.

Give Journal entries and Ledger accounts in the books of the
purchaser and hire vendor.

(B Sal LT6woremiD 1.1.2005, 651N (H LI5 R60T6MID SEU6HETIT 61GHTETALPS60
PeBMUN6D CUMRIBIIS). SUIBSTSS6T O\IMTES 6fllenev erp. 11,175 Sh&LD. GLoeyILd
SDESSILAIMD) O)FTNS \FUSSLILILLG).

2 _LelTLIsema &6 WWSSBLaUTWdl b 3,000-wlb 58 epetim
seumemiaefley e 3000 efigb @aoan®m Jpaest SmiHuled
QEFSFLILLLEI. sfihLemesImemT 5% 6l GDMHEOSTEITLIT. OIS
sflemeoudled, GemMIES 61560 LDSLILN6D Sp6TT(B6HE 10% SHLDLI CILIM)6US)] 6T60T
Fal' L MeuoTenlbuled (plee\euBaaLILIL L &)

E\&MTET(PSEOMEITIT DMHMILD SUMTLENS eflhLIEHesTWITETT SpSEWIMT 671 1060

PSHSHILCLG WHMID CLBTLENLS S[HS.

skokok
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AF-1620 BCS3C1

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

Third Semester
COMPANY LAW AND SECRETARIAL PRACTICE -1
(CBCS/2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10x2=20)
Answer ALL Questions:

1. Whatis meant by Private Company ?

S6ufl [BMILDLD eT63TLISHET GILIMAR6IT 6T60T60T 2

2. What is Memorandum-of Association ?

SHEMLDLIL| FTS6VILD 6TETTMITEV 6TETTE0T ?

3. Write shortnote on Registrar of Companies ?

Bmiwraiserflesr uBeument LbH) A SMILIL eTLps).

4.  Who are Regional Directors ?

LD6BOTL 60 GUISGSBITSH6IT WITIT ?



10.

Who is a Personal Secretary ?

S6ufld \FWIeDIT eTedTLIeUIT WITTT ?

Write short note on Secretary of a Co-Operative Society.

oL Bmeyd a\Fwisd Ll fm GMILIL| 61wpg).

Who is aroutine Secretary ?

6ULDESHLDITEVT 6)FUIEVIT 6TETLIEUIT WIMTIT ?

Mention the rights of Secretary-?

egwieorfletT 2_flemLbaemerns saml.

What is Government Company ?

ST [BMILDLD 6T63TDITED 6T6dTE0T ?

Whatismeant by allotment of Share ?

LIBIGSHET R816HED e165TLS60T EILIMTHETT eTeiTenT ?
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Part-B (5%x5=25)
Answer ALL Questions.
11. (@ WhoisaPromoter? Whatare his functions ?

GzmHmIEALILITENTT ETEOTLIGUIT WIT ? SHeuTg) Liswolls6im winemne ?

(On)

(b)  Write anote on : Articles of Association.

6\Fwedpemm eflBsei LN GSHILIL] eTLpS.

12. (@ Writeanote on: Histery of Company Law in India.

8w By FUL eugeonm) LIHNN GSHILIL| 61L&

(On)

(b) Writeanote on : Advisory Committees.

SpBeonFement G(SHS6IT LD GMILIL| 61L&
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13. (a)
(b)
14. (a)
(b)

State the qualifications of a Company Secretary.

B QFweoit LM GSBILIL| 6TLDE.

(On)

Write a note on : Secretary of an Association

SThIBE 61F60rfl6dT QLIMMILILISET WITEne) ?

What are the liabilities of a Company Secretary ?

Bmibe QFweorfledT UMMILIL{SET WiTeney ?

©n)

State the procedure to be followed with regard to the ap-
pointment.of Secretary.
61FLI6OIT IBUILDEDILD E\GMLILINES SHemLLIip8He Geuetonioul

HEDLPEDDHENETS Sarm)l.
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15.

16.

17.

(@ Writeanoteon: Table A.

SiLLeuemenar 67 LIHNN GSMILIL| 6T¢PSI.

(On)

b.  Whatrestrictions have been imposed by the Companies
Act on the allotment of shares ?
LIGS6T @8165® O\SMLILINS BNILDg FLiLgHett BLbSemea6

wimemey ?
Part-C (3x10=230)

Answer any THREE Questions.

What is a Prospectus.? What are its Contents ?

SHEUONEENS ETETTDITED. ETEITEU ? HGET 2_6ITOTLEHSBISH6IT WITEn6N ?

Explain the main functions of the Board of Company Law
Administration.

Bmiwe gL Birauns semLulett wpéSwibmest ListflsenerT sflenés.
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18.

19.

20.

What are the functions of the Secretary as an administrator ?

Brieund etetin SleliLienLulled Q\Fwieorflest LisvollseiT wimemey ?

Discuss the duties of a Company Secretary

Bmibe a\FwieorfletT &Lembs e efleurs.

Explain the pre incorporation duties of the-Secretary with regard to

Public Companies.

g Bmipg 6o LFeNNG (WpbewsIL 6\FUIe0If6lT SLenLb&maT s6T&HE.

*hx
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AF-1621 BCS3C2
B.Com. (C.S) DEGREE EXAMINATION, APRIL 2010

Third Semester
Corporate Secretaryship
ADVANCED FINANCIAL ACCOUNTING-1I
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
PART-A (10x2=20)

Answer All Questions

1.  Whatis partnership deed ?

SaL'LNEGIEDLD LISSTLD 6165TDIT6D 61651601 2
2. Whatis fixed Capital ?

BEDE0E;S (LPS6L GTETTDITED 6T65TENT 2

3. What do you mean by New Ratio ?

Hw efldsid b B Sifleug) wing) ?

4. Write short note on “Goodwill”.

“mHouwi’” Lbm Hr SHIL aWsis.



10.

“Dissolution of Partnership” - Explain.

“gaL L NeGITEDLD SO - 6H6TEHES.

What do you mean by “Discharge of Liabilities”.

“eunmiysee Sisseo LHM B Sirdleug) wing) ?

Write short note on “Insolvent of Partners”.

“sarLneflmer Oypmeliy” 158 Am GO cuenrs.

What is “Dissolution by Court”

HHLEHTMSHITE0 HEDEOLIL| GTEHTMITED 616560 2

Write short note on “Piecemeal Distribution”

LIQUILIQWING 6uPMaISED LD A G cuenrs.

“Maximum Loss Method” - Explain.

“NBFLILE UL 1PeOD - eHleTSSs.

AF-1621




11.

PART-B (5x5=25)
Answer All Questions.

A and B are partners sharing profits in the ratio of 3 : 2. They

admit C into the firm for % * share in profit of which he takes
% " from A and % * from B and bring Rs.1000 as premium
out of his share of Rs.1,800. Goodwill account does not
appear in the books of A and B but the new firm deceides
that goodwill should appear in the books of the new firm ata

value of Rs.1,610. Give journal entries.

A b B sarLneflsst 3 : 2 a6t efidasdeo udimbgent. Deuseit
3

Ceoow 77 aep uhisafisg Ganggemi. JaumHES A WYIBmmHs
% u fugid B ulLimba % U Mu@Lb euprusiiurL g e 1,800 6
Stauit wpewenons e. 1000 snen® eubsnit. A wipub B uledr
a@sefieo BHOLWT sawsEE GConepefleuemed. Spemmed Ll
Breensdeo phouwi semedeo  ep. 1,610 s apeey
aFLwLL@eTeng. SMILICLEG LSy SMHs.

(On)

X, Y and Z are partners sharing Profit & Loss in the ratio of
Y, . ¥ . % . Zretires and surrenders % t of his share in favour
of X and remaining in favour of Y. Calculate the new profit

sharing ratio and gaining ratio.
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12.a.

X wimub Y sarLnefiaet Qeonu BrLsems Y, : K 1 % eetin efidssdeo
VMsssasnaidonisdr. Z QUi OubhD JeumeoLw uniGefed
4/9 uruews X &@Lb wHMID s 2 aenews Y &&d SieflsSni.
ez Lw Seonu efldsid HMItd Shsmu iS5 sersS6s.

A and B are partners sharing prfits in the ratio of 3 : 2 with
capital Rs.12,000 and Rs.5,400. C is admitted as a new
partner for % share profits with a capital of Rs.7,500. Adjust
capitals of them in the new profit sharing ratio. Give the

necessary journal entries.

A wipb B sarLnefieer @eomusdemen 3 : 2 cfidsddeo 19Msg6
onendeiipeni. SieuisefiL epeogeuid wpepGw en. 12,000 whmub
b 5,400. ydw sarimefl C aevueut ¥ Qeonu udiey eildasHe0
ep. 7,500 woayLenr Cemdmni. 4w Geonu udiey eAdss5He0
garLneflsefielr wpasosewen silssL Loy, GaanauLime G GLILBLI
LSEUSEDEMULILD S(THS.

On)

Malathi and Revathi are partners in a business sharing profits
and losses in the ratio of 3 : 2. Their Balance Sheets ason 1%

January 2002 was given below :
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Liabilities Rs. Assets Rs.

Capital Accounts Machinery 20,000
Malathi 20,000 Stock 16,000
Revathi 15,000 Debtors 15,000
Reserve fund 15,000 Cashatbank 6,000
Creditors 7,500 Cashinhand 500

57,500 57,500

Revathi retires from the business on 1-1-2002 owing to illness and Malathi

takes it over. The following revaluation were made.

®

(i)

(iit)

()

The goodwill of the firm was valued at Rs.25,000
Depreciate machinery by 7.5% and stock by 15%
Create Provision for bad debts at 5% on debtors
Create Provision for discount on creditors at 2%

Give Joumnal entries

wnevd wmb Creud Smeumd 3 : 2 ergubd eonu uditey idssHo b

Brisuen oo sarLnefisems 2_senet. geweufl 1, 2002 Sisiremps Sieuiseng

8oy

Beveoa@MILiL] SECLP STLILILB6TeNZ.
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WIS ETT o0h  EMHTISSISSH6T )

(APSHD HETTESH6IT Suipdmd 20,000
Loneod 20,000 espsdmiy 16,000
Gpeud 15,000 sLemefismer 15,000
sy B8 15,000 and oy 6,000
SLETBESH 7,500 eynsgs SmLy 500

57,500 57,500

1-1-2002 oehnm Coad sarinemedwulelphba 2 LedBened
gfluficoeongeoned nevd BHiCIETSS 1BSSHISH NSNS, SLDSHSHETL T
oS NIE OFUWtLGSDS.

() Boeersse mowwi ab. 25,00066 SN ILGEDE.

(i) Gauonemd - SuibBmb wmud 7.5% whHmd sgsSmLIL
15% op@ib.

(ili))  sLemefseT 55 NG 6T 28166 5% 2 BHONGSUILILLSI.

1v) 2% sLefBGaM Q'L R8i5E 2 GENGHLILILLS).

SOMCLI-BLILBESET SHs.
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13. a. Explain the modes of Dissolution.

660l L 65T euensgemen efleurfl.

(Or)

b. Arun and Babu were partners sharing profits in the ratio of

3 :2on 1.7.2009 their Balance Sheet was as under:

Liabilities Rs.  Assets Rs.
Capital Accounts Stock 12,000
Arun: 5,000 Debtors 15,000
Babu: 3.000 8,000 Fumiture 600
Creditors 20,000 Cash 400

28,000 28,000

The firm was dissolved on the above data. The assets realised only
Rs.16,000. Expenses come to Rs.500. Arun’s private estate could pay
only Rs.1,000. Babu has no surplus. Close the books of the firm.

SiH65T LHMILD LM | Far'L neflse Seonusens 3 : 2 aciiepip eflBss560
udibgl esnetdeimpert. 1.7.2009 Siestienn Smiy Bewevd @Mty

LN6BTEUEHLDIT) -
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EWUTAYLILIES6T O0h  6IFISSHISEET )

WPILO FEESS6T sU68mLIL 12,000
Siwesor . 5,000 sLevmerfle6T 15,000
QL Es o CensssssT .
umy: 3,000 8,000  Swopasosh 600
sLef TGS 20,000 eynsaD 400
28,000 28,000

GuhsaPiu Cadulled Bmicuembd sepeosslLLLg). aensgiser b. 16,000 &6
fipsiurLg. eseasst . 300 SpBwg. Simenfishr sefid Oensgss6T
5. 1,00086 wdiliurLg. unysihe Wisdwns aggib Seoeweo. Brieuest

IB56l65T &VEHGHEDET (LPIESHAYLD.

14.a  The following was the Balance Sheet of Arthi and Bharathi on

31-12-2008.

Liabilities Rs. Assets Rs.
Sundry Creditors 38,000 Cashat Bank 11,500
Mr.Arun Loan 10,000 Stock in Trade 6,000
MrBharathanLoan 15,000 Debtors 20,000

Less Provision 1,000 19,000
Reserve Fund 5,000 Fittings 4,000
Aarthi’s Capital 10,000 Machinery 28,000
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Liabilities Rs. Assets Rs.

Bharathi’s Capital ' 8,000 Investments 10,000
Profit & Loss A/c 7,500

86,000 86,000

The Partnership was dissolved on 31 - 12 -2008
(1) Atook over the investment at an agreed value of Rs.8,000
and agreed to pay off the loan to Mr. Arun Loan.
(i1) Theassets realised as follows :
Stock Rs.5,000, Debtors Rs.18,500; Fittings Rs.4,500
and Machinery Rs.25,000
(iii) The expenses on dissolution Rs.1,100

(iv) The sundry creditors were paid offless 2.5% discount.

Aarthi and Bharathi shared profit & Losses on the ratio of 3 : 2. Prepare
Realisation Account.

etraugpeuest Spitss hHmid ungduleir 31-12-2008&sn6s SpLIL

1Beweos; Gy

I ILIEBETT ) 1TSS S/SBB6T W)
upuesLefbesME6T 38,000  aumuduled O\INssID 1,500
S SigHeTT SHL 65T 10,000  efwnung sgsdmin 6,000
S LIS65T SHL65T 15,000  sLemeflser- 20,000
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EWITIILILJSS6TT (0} 61FISSIBEB6T (0}

sy B8 5,000 &f9sEE _ 1,000 19,000
DHiTHS W&60 10,000  OWLINEHSSISEOSET 4,000
ungs paeo 8,000 Sukdmb 28,000
WEEOBssT 10,000

Beomu BLL &5/& 7,500

86,000 86,000

31-12-2008 Siehin) Fal'LNEGTenLD SEDe0&HSLILIGSDSI.
1) 58 wpsSGamer ap 8,00066 aBSHEOETETAUCSTE
B0 DHEALD SL6HT CVEES SUILIG OEHTERTLTH.
(1) spe8mIY OENSHIGS6T eiHN) LERTONGSILILL F).
() epaSmUY a55,000; sLamefiEaT ab 18,500 ; OWINHSSHISEOSET
€b. 4,500 whHnid SwikSHId a525,000.
ubLI SLEECHTIGEDES 2% % SeTEbLiguied OFQISSILILL 5.
9153 whmid ungSullesr Geomus BrL ABHID 3:2. &6 HTTSHBIETIS SIS,

©n)

b. Explain “Gamer vs. Murray’s Principle”.

15. a. Ram, Ravi and Raja share profitintheratio3:2:1. On
31-12-2008, their Balance Sheet was as follows.

Liabilities Rs. Assets Rs.
Creditors 12,000 Machinery 25,000
General Expenses 3,000 Stock 11,000
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Liabilities Rs. Assets Rs.

Capital Debtors 9,500
Ram 20,000 Goodwill 13,000
Ravi 15,000 Cash 1,500

Raja 10,000

60,000 60,000

On the above data, the firm was dissolved. The assets except cash
realised is Rs.60,000. The creditors were settled at Rs.11,500.
Dissolution expenses amounted to Rs.800. Give necessary ledger

accounts.
gmb, gefil omid prieen sarLnefiss Seomugens 3 : 2 : 1 asiip ehidsseo
Lihe) Oenei_emiesei. Wsireuee 31-12-2008 ée Sieuiserfisir
8oLy BeeosGHIlY SH&id.

WLImpIILS6T o5 CTEEBET )
sLafiGoniser 12,000 Suipsmb 25,000
g sy 3,000 spsdoy 11,000
6> sLemoEsT 9,500
b 20,000 mpOLWT 13,000
el 15,000  eynésid 1,500

Ul 10,000

60,000 60,000

Guomesesiest CaHulled Lrba BMICUEHILD SHEDEOLILIGETETIENSI. COWIT&ELID
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ey wHD OEnsgsaeT usmpnssuurLg ap. 60,000 sLafBCsNEs
em. 11,500 esayssiiicL g. seeoliysanes egeosy ab. 300. Goemeauwnes

CLGTL®B SHEWI&HS SHS.

(On)

b. Write short note on (1  Surplus Capital method
@) Maximum loss method.
ANGHILIL| cuewrs @)  2ufapsed .
(i) SBsLLE BUL WPeoD.
PART-C (3x10=30)
Answer any Three Questions.
16. Define Partnership and state its main features,

FaL L METTEDLDEMIL! SUEDTILIMISS! HNS60T (p&diLt @u_la)q&anm SHLIGs.

17. P,Qand R were partners sharing profits in the ratioof 3:2:1o0n

1-1-2009 Q retired on that date. Balance sheets was as follows:

Liabilities Rs. Assets Rs.
General Reserve 6,000 Machinery 30,000
Expenses Owing 2,000 Land 3,000
Bills Payable 5,000 Debtors 9,500

Creditors 11,000 Stock 12,000
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Liabilities Rs. Assets Rs.

Capital Cash 500
P 12,000
Q 10,000
R 9,000
55,000 55,000
The terms were :

(i) Goodwill was to be valued at Rs.12,000 but no good

will account was to be raised.
(i1) Expenses owing are to be brought down to Rs. 1,500
(ii1)) New ratio between P and R willbe 3 : 2
(iv) Mahcinery is to be valued 10% less and land Rs.4,000

(v) Thetotal capital of new firm will be fixed at Rs.25,000
to be contributed by the remaining partners in profit
sharingratios.

Prepare (i) Revaluation account
(i) Capital account and

() Balance sheet after ‘Q’s retirement
P, Q wimub R esiremud sarLnefiser Qeomugens 3 @ 2 : 1 esond efdssdeo
usibg ensndenment. 1-1-2009 ity Q sfloadmmi, Jisirewpw Caduiieo

By Bweos; GO EC SILILLL G
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OWNTEYLILISETT (L) 6IFTSSIE6IT (0}

QwInglsliy 6,000 @uismd 30,000
QBNB&ELILIL Geuetoroul
6\F6VEYGH6IT 2,000 o 3,000
oeasgausnaiu wnmnd G 5,000  sLemeflsst 9,500
sLef BT 11,000 spaémiy 12,000
GIITEYLILIE6TT (W) 615TTSSIB6IT ()
WP CWIM&ELD 500
P 12,000
Q 10,000
R 9,000
55,000 55,000
LI SSETTEUERT |

(1) soewwiep 12,000 &@ eI OuLL g1 DH6vTe0 HHEW LT

H6W15:G stgIaD Cambmisiissefleoanso.

(i) eEnEUL Geustmew OEsoeys6T eb. 1,500 66 GEDEHILILLE.

(111)  yBw Geonu udiiey sfidsid P wihmub R 66 Qe Gwi 3 : 2.

(iv) Sumgop 10% eons wSILlurL Guweyd MeoLd
33 58I 8l &

eb. 4,000 i g.
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(V) ydw sarLnemewioulietr euongs wpaed ep 25,000z ydw sart nefisst
§ ﬂ.al ﬁ]g .B.mnmm. .‘ ﬂ. (i)LD B.T. .
sewie. (11) wse semsg whprd  (111) Q efleodw ety By

Beweos@MILy.

18.  Suresh, Ramesh and Logesh were partners sharing profits and

lossesinthe ratio of 3 : 2 : 1 on 31st March 2009 their balance

sheet was as follows:
Liabilities Rs.
Sundry Creditors 15,400
Bills Payable 13,600
Suresh’s Loan A/c 10,000
General Reserve 12,000

Capital A/c

Suresh 20,000
Ramesh 16,000
Logesh 8,000
95,000

Assets

Cash at Bank

Stock

Debtors 15,000
Less Provision_1,000
Joint Life Policy
Fumniture

Machinery

Rs.
3,500
19,800

14,000

4,000
10,000
43,700

44,000

95,000

The firm was dissolved on 1st April 2009. Joint Life Policy was taken
over by Suresh at Rs.5,000. Stock realised Rs.18,000. Debtors realised

Rs.14,500. Frniture fetched Rs.6,300 while machinery was sold for
Rs.46,000. Liabilities were paid in full. In addition one bill for Rs.5,000
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under discount was dishonoured and had to taken up by the firm.
Expenses of liquidation totalled Rs.2,000. Give the necessary ledger

accounts to close the books of the firm.

&Cpeiv, gGLosiv HmId CeonGasiv Reurtaerfiesr Geonws 1rfley elisid eretimy ©_eiTen g

Sistrempw! G558 SmLiL Beweos GO BbLiY Benevd Gl LNeiraugponmy)

QUMD W OETBESET o5
Libued sLefEEsiET 15,400  euriudiulied Omésid 3,500
osssasHeiuomnes 613,600 exsdmiy 19,800
&Ceiv SL6H &/& 10,000 sLemedser 15,000
sf om686 1,000 14,000
oungSMIY 12,000  sar® Spuwer Sruib 4,000
PBE &/&
&Cgev 20,000 HDDBE0MEHT 10,000
gGLeiv 16,000 SubSmb 43,700

GeonGas 8,000 44,000

95,000 95,000

1.4.2009 istm) [BIIUEHILD HEDEOGHELILI L F). Sal (B IbIET S'L SH60s HEH6iv e
5,0008@ eIHmis EVSTeTuTLITI.

6185816861 LNsteudbLonm efDaUILLL §).805S ob 18,0006 sLeumefiseT
oh 14,0006ED Jiewm&6eosit ¢h 6,30066D SuihSIb o 46,0006G1D

sfihaUuL &l
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QUINMILLSET AppenDWINS SBUT OFQSSILCL . QLD QEUWLILLL @5
2_65omQuI60 LDMISSETBSHLILILL 816D efh SO00&GLD BOIDLD E\FeYSIS). SHEneoLiL|
615606) el 2000 OFQSHBLILILL §).

Boinsdett a@serieo GaemauLines GLEH B SETEHDE SUINIT OFIWIEYLD.

19. X,Y and Z were partners sharing profits equally. Z died on
31-3-91 the balance sheet of the firm as at 31-12-90 was as

under :
Liabilities Rs. Assets Rs.
Capital A/c’s Goodwill 40,500
X 90,000 Buildings 90,000
Y 75,000 Investment (Cost) 24,000
Z 63,000 Debtors 54,000
LessProvision 5,400 48,600
Reserve Fund 18,000 Stock 84,000
Investment
FluctuatiionFund 6,300 Cash at Bank 12,000
Creditors 46,800
2,99,100 2,99,100

On the date of death it was found that :
(1) Debtors were all good.
(i) Investments were valued at Rs.22,500 and were taken

over by X at that value.
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(i) Stock were valued at Rs.75,000; Building was valued
Rs.1,71,000

(iv) Liability for workmen’s compensation for Rs.9,000 was

to be provided for.

(v) Goodwill was to be valued at one year’s purchase of

average profits of last 5 years.

(vi)  Z’s share of profit upto the data of death was to be

calculate on the basis of last year’s profit.

The profit of the last 5 years were as under;
1986 - Rs.34,500; 1987 - Rs.37,500; 1988 - Rs.24,000;
1989 - Rs.30,000; 1990 - Rs.36,000
Prepare Revaluation A/c, Capital A/c’s and balance sheet of the
remaining partners.
X, Y wibmpub Z sarnefisst @eonusens swons Liflsg) asnereumisst. 31-3-91

Sty Z Spme. Neiaumere 31-12-90&a@ner Ul [Baneos: GPiy

EWImmYLILSET ) 6IFTSS/SEIT )
AP0 &/S IBHOLIWIT 40,000
X 90,000  &LigLD 90,000
Y 75,000  psSGasTOILESID) 24,000
Z 63,000 &Lemeflast 54,000
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WimmLiL)S6T W) 615ISS/SH6TT W)

sy Bs 18,000  &URsHI6EE 5400 48,600
WwsSLGwIUGBE 6,300  spsdmuy 84,000
SLTHCHMTEET 46,800  eumduiled OPNSSLD 12,000

2,99,100 2,99,100

Bbs Caueim seuIBLlgssLILILL &)

() sLemelEsT JieveTauHLD HET).

(1)

(iii)

()
)

(V)

WPSEO@s6IT eh 22,500 e16vt LA LIL &) LHDID HCH NN X
T®S5I CVSHTeToTLIT

F158@U ep 75,000 eeor AL G), SLIQLD ep 1,71,00 6lest
IO gy,

aamfleonemiasefissr QL@ OuTmIL] b 9000 @FHIGEHLILLL ).
ELIES 5 Spe® Beomu sunaiufled S eubL EBET APSEO WemDuTed
IBHOLWIT NI OILCL 8.

L[5 SYHTG BOOTLSB6iT gL UI6 By HETEUDTLITE Slewi
S6oMub SeRTESLLILIBLD.

Hetr eumenes sLHS 5 Spe@aefiei@eomubl 986 - Rs.34,500 ;
1987 - Rs.37,500; 1988 - Rs.24,000; 1989 - Rs.30,000 ;
1990 - Rs.36,000.

oDIDBASB /6. ) 5/ Db 15etb e sitem s Teesisi SwiLy
BRCOSGIIL ST OE15.
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20. Rathi, Vanitha and Bharathi are in partnership. The following is
their Balance Sheet as at 31-12-2008 on which date, the dissolved
partnership. They share profits in the ratio of 5:3 : 2

Liabilities Rs. Assets Rs.
Capitals Premises 40,000
Rathi 50,000 Plant 30,000
Vanitha 15,000 Stock 30,000
Bharathi 45,000 Debtors 60,000
Creditors 40,000
Rathi’s Loan 10,000

1,60,000 1,60,000

It was agreed to repay the amounts due to the partners as and

when the assets were realised.

1-2-2009 — Rs.30,000 ; 1-4-2009 —Rs.73,000 ;
1-6-2009 —Rs.47,000.

Prepare a statement showing how the distribution to the

partners should be made and show Realisation A/c, Capital A/c
and Cash A/c.
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18, auesfls HMID LN b FaL' L NeTentbuied SbHETTEHET. LNGHTENHE6TT
SaLLIEWIEDD SeweoLly mremnes 31-12-2008 Jisedpw SahLiy

BeoeoseMliy p&W. Seaiseflesr Geonu udiey edsb

5:3:2 Q6.
WITEULILISET eb. 615TIS5/556IT eb.
WPSEOHET QUeMELD 40,000
) 50,000 Surdmb 30,000
cuesfigm 15,000 sTSSmUIY 30,000
ungd 45,000 sLeomerfls6it 60,000
SLeTHOSHME6T 40,000
THLEDLLI SL65T 10,000

1,60,000 1,60,000

QENSHgIHEEET LEDI&HESULUGLD GuNg saLLnaflsEpssETaT OSTEDSHEML
C\FQSHIAUSNS RUILS CISETOTLILILL Si.
1-2-2009 ep. 30,000 1-4-2009 ¢5. 73,000

1-6-20089 ¢p. 47,000

FarLneflaensd LETbEseTss Couemnouians ST G HNHS QETEDD ST
61518 HMID MILH TG &/& PGSO OGS &/& ST C1FUIS.

*kk
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AF-1622 BCS3C3

B.Com. (CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

Third Semester
BUSINESS STATISTICS AND MATHEMATICS
(CBCS /2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10x2=20)
Answer All Questions.

What do you mean by tabulation ?

L Lauemenrui@gev eredtLg) LD b Sinfeus) wing) ?

Explain - Secondary Data

BevorLmb [BemevLiLjeiTerll efeurtd - 6Men&&s.

How can you calculate mean ?

1B ereueun ) Fon&l sevrsSGEeumL ?

Regression - Explain

QBMLITLYCLITES - elens@s.

Write short note on “ Measures of Central Tendency “

enLowiBemeo GLMGaemeneus6 L5g) fml GMILIL| euenns.

What is Rank Correlation ?

eurflema QLBMEY 6TEITMIT6D 6T6dTERT ?

1



10.

11.

a.

State the meaning for “trend line

BUTES CHMBEHSTEN AHTHSH50 A\5iflefl.

What do you mean by Time series Analysis ?

&ieoLb &t O\GMLTeuflews Spuiey Lb B Sinfeug wing ?

Define Set

&60TLD LD euemIuIm).

What do you mean by “Statistical Probability” ?
Hermerfluiuied Bapsaa) Lb) B Sifleug) wng ?
Part-B (5x5=25)
Answer All Questions.

Distinguish between Primary data and Secondary data
W36 LI sierf efleungsemsLD GretorLimb SiLiLeiTerll efleunsemg b
CanLGS5Is.

(On)

Discuss the requirements of a good questionnaire.
(B 5606 GBS STEBEHSHTEN CFHENEUHENOT HEOIBSTITUIS.

12. a. Calculate mean fromthe following data :—

Value 1 2 3 4 5 6 7 8 9 10
Frequency: 20 31 29 38 25 33 39 10 16 56
L9etT 6u(BLD LsiTerllefleunmhigenet 6\&metor® FInaiflenw seuursH®s :

DS 1 2 3 4 5 6 7 8 9 10
Semeoeeussr . 20 31 29 38 25 33 39 10 16 56

(On)
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b. From the following find out the mean profits :—

Profit per shop (Rs.)  Number of Shops

100 - 200 11
200 - 300 19
300 - 400 21
400 - 500 27
500 - 600 31
600 - 700 29
700 - 800 19

et euBeueTTOUDNNED B(BHG FINE T BEOMUISENS SHevorBLIIR

QB SHenLESTeT Qeomuid ()  SH6wL eTeToTewNSEms

100 - 200 11
200 - 300 19
300 - 400 21
400 - 500 27
500 - 600 31
600 - 700 29
700 - 800 19

. a.  Calculate the semi interquartile range and quartile coefficient
from the following :—
Age (in Years) : 20 30 40 50 60 70 80
No.of Members : 3 61 132 154 139 52 3
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LGS SEOLGILITET HTEODRIGET HIID HTEODRISET O\aWea L6
GRS BEHE ST,

awg (peoeaefled 20 30 40 50 60 70 80

2 minfent erstrenllsews. 3 61 132 154 139 52 3

(On)

b. The table below gives the marks obtained by 10 B.Com (CS).,
students in statistics examination. Calculatestandard deviation.
Nos. : 1 2 3 4 5 6 7.8 910
Marks: 45 50 60 62 40 68 39.50 80 85
ECp a&snGssLuLGeter SiLauememuieo 10 B.Com (CS),
whewreuisefiss Lierefufwied Gsiiefled OLMUILLL SIOLIERT D@D, SrL
6fl60&51D HeTTESGS :

eTeToTEs6IT 1 2.3.4 5 6 7 8 910

wdlewuemser  : 45 50600 62 40 68 39 50 80 85

14. a. Calculate trend values by the method of least square from the

data given below and estimate the sales for 2009 :—

Year : 2002 2003 2004 2005 2006
Sales
(Rs.inLakhs) : 72 76 82 88 92
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868 asnBGsaLuLGser LeTefll seunmisefleo SmbHE GewDHS6UT
PpempenWll LWeTUGSS CGUTSHES LDBLILISED6T HewrsSLaD. DHMID

2009 b pesmBssTeT efbLenesTenw A INBS :

T (C I 2002 2003 2004 2005 2006

eflhLieneor

(. @eo55:860) : 72 76 82 8892
(On)

b. Compute a price index for the following by (i) simple
aggregate and (ii) average of price relative method by using
both Arithmetic mean and Geometric mean .—

Commodity A B.CD E F
Pricein2000 (Rs.) : 20 3010 25 40 50
Pricein2001 (Rs.) : 25.30.15 35 45 55

Hetr eupeueTauHMed RBHE! eleneveurd GHIUILG eT6tr &HeTSESBS.
&) ereflw sal’L6d wewm WHMID () sTm&M @LYemD wWpewmuiled

senTHAL Fal G Fonaf DMHMID LIHSHSEL FTmEfenwt LWTLIGSSIS.

LI6BOTLLD - A B C D E F
eflemeo 20008860.(ex) : 20 30 10 25 40 50
eflemeo 20016b (o) : 25 30 15 35 45 55

15. a. A family of 4 brothers and 3 sisters is to be arranged for

a photograph inone row. Inhow many ways can they be
seated if all the sisters sit together ?
4 sGsnsiser wHOID 3 FGaTHNEET OHMTEIL QB GSBLLSSHED
@eafluLd a@ss @@ auflemaulied (FOW) SHDTEFSULGSDTITS6T.
Simens g F8aEM5MaHEHD @CT BLS5SHD DI 61556M6uT CULd 6T
o _eiTerTent ?

(On)
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b. Discuss the different school of thought on probability.
Bapgse) smer LsoGaum) LisTerliaeflsir Abgenemasenen seomsmImiis.

Part-C (3x10=30)
Anwer any Three Questions.

16. Represent by a percentage bar diagram the following data on

expenses for the two companies. i.e. Sibi Ltd and Logesh Ltd .—

Expenses Sibi Ltd  Logesh Ltd
(Rs.in’000) (Rs.in’000)
Raw Materials 450 350
Employees exp. 750 680
Administrative exp. 210 580
R&D 400 245
Other expenses 180 455

&9 Bmb whmib Geom. Bssv BmibD, Db BTetor® BmIDSSett
e\Feoeydanen Letefl efeurb Lleieumeuens 6\&T6r® F56i8 LIL6HL

UEMILILIL LD 6160 :

QFeveyseir A9 Bipuoib GeorGesaiv
em°000) em "000)
SEET CWITHLSH6T 450 350
LewflnerTig6iT 615606y 750 680
BiredrWssonssT 210 580
Sprmiisd wpmib Heflmss 400 245
I EEeOsIEET 180 455
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17.

18.

Compute median from the following data :—
Mid values 115 125 135 145 155 165 175 185 195
Frequency 8 30 54 68 120 65 42 25 4

etreudpLd Lisiterfleeunriigefleo Sapbg SemLBeneoione)] sewraH®s :
@eLwgiy 115 125 135 145 155 165 175185 195
Smeoeeusr 8 30 54 68 120 65 42,25 4

Ten competitors in a beauty contest are ranked by three judges

in the following order :—

ludge : 14 5 9 810. 6 3 7 2
Niudge : 4 7 8 56010 9 2 3 1
Mdudge : 7 6 8 5.1 910 2 4 3

Use rank correlation coefficient to discuss which pair of judges
have the nearest approach to.common tastes in beauty.
USs GUITLIQUIMETTHET. O1&HMTEIL R P& GUILiQuiled epesTm)

woeusslstt srauflens LlsiraumLomm) :

m@eur | 145 9 810 6 3 7 2
sl <+ 47 8 5 610 9 2 3 1
m@eur 1 76 8 5 1 910 2 4 3

aflens QLB & wWemalll LWeTUGSHS 6bg Sretor® mbBeuTserflet

efBLILLD P& CUMLIQUTN6d SiHEeD 2_6iTarTg) eT6iTLIENS efleure.
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19.

20.

The following table gives the assets value of Vivek Ltd .—
Year : 2000-01 01-02 02-03 03-04 04-05 05-06
Assets 95 97 85 115 125 151

(a) Represent the data graphically.

(b) Fit a straight line trend .

(c) Also estimate the assets for 2010 - 11.

e GL ALLaemeaule eNGas BHinsder O&nss LAY
QBTBSBLILIL B6TOTS)].

pem® :  2000-01 01-02 02-03°03-04 04-05 05-06
aensgmer. 95 97 85.~ 115 125 151

(em. Gameuied)
() euemLILLDeLpevLD LisiTerfl efleunmhigemen OeuerfiliLIBE g
) @b CriT CUTEHE CaHn(G, OIMNISS)s.

@ Gweyb 2010 - 11 b 6B )eNSewS SILNBS.

What do you mean by sets ? Discuss about different types of
sets ?
&6vTLD eTedTLIg LIDM! B Sinfeugy wing) ? LisoGeum) eUenaIITENT S6dILD LD
sfleund.

*k*k
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AF-1623 BCS4C1

B.Com. (C.S.) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Corporate Secretaryship

COMPANY LAWAND SECRETARIALPRACTICE-1I

(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks

Part-A (10 x 2 = 20)

Answer all Questions.

All questions carry.equal marks.
Who are First Directors ?
P60 BISSBITSHEIT ETEOTLIEUTE6IT WIMIT ?
Write short note ons. Alternate Directors.

MHm SwsGSHIs6eT LD N GSOILIL| 611LPE!.

Who is aManaging Director ?

GLDEOTETOTEMLD SIS STBIT TESTLIOUIT WITIT ?

State the disqualifications of Managing Director.

@LeoretoTemLd BSSHIN6T HGHUNTEDLOSEM6ITE: Fam).



10.

What is meant by Quorum ?

GEDDEIEUCTIT ETEFTLIGHETT GILITIH6IT 6T63T60T 2

Write a note on : Chairman of meeting.

Fal'L S emevaulT LM GMILIL| eTips.

What is Investigation ?

L{606BTITUIEY 6TEBTMITED 6T60T60T 2

What do you mean by mismangement.?

SEUDTEUT BLDEOITETITEMLD ETEITLISER GWIM(H6IT, LD [ Hnfleug; erettent ?

What is Reconstruction ?

LM FTEWLDLIL| ETETTMITED 6T60T6DT ?

What is meant by winding up ?
&HE0EOLIL| 6T6OTLIS6IT EWIMB6IT LD 5 Sinfeug eretrenr ?
Part-B (5x5=25)

Answer all Questions
All questions carry equal marks.

11 a. How are Directors appointed by a company in general meeting ?

BMILD OILINGIS Sal'L §H60 BWSGSHTHEN6T eleveumm) BiLblss6eomLD ?

(On)
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12 a.

13 a.

14 a.

What are the disqualifications of Directors ?

BWsEHIsaT6T H&SUNCTENLDSEIT WITenel ?

State the legal provisions regarding a Managing Director.

BLDeoT6TuTemLD GUISGIHIT O\GTLALITE &1L 6l556m6rs: Fam).

(On)

Distinguish between Manager and Managing Director.

@LDeomarIT LMD GLDevTETITERLD SIS SBIT.CoumILIGSH SIS

What is a statutory report ? What-are its contents ?

FLLLYITEN DH56W8 6T6TDITED ETEIT6 ? HFHET 2_6ITEMLSHSHMISHET WITemed ?

(©n)

State legal provisions regarding proxies.

DD ASTLITL N6 &1L el smemens: saml.

What are the consequences of investigation ?

Levevtmuiefledr sMemerTeys6iT Wimemex ?

(On)
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b.  Explainthe conditions for oppression.
SILESPEDMUIEST [BLISMETTSHEME 6678 .
15 a. Write a note on Member’s voluntary winding up.
2_mitifleott setrefl@pLiLS: SemeoLiL] LM GSHILIL| 6TLDSI.

(On)

b.  Distinguish between amalgamation and reconstruction.
R(BrRISenemTLIL| LDHNILD NIFTDLDLIL] CaunILIBSSIS.
Part-C (3x10=230)

Answer any three Questions.
All questions carry equal marks.

16. Explain the duties of directors,

BWsGHTS6 6T HLMDSHEET 6H6TES.

17. Write an essay on'managerial remuneration.
@eonssoremiowiledt 2erHuid LiH SLBewT 6T

18. Discuss the duties of the Company Secretary in connection with the

annual general meeting.

SpeTTBLI O ILIMG|&Eal LD QGTLITLITE A\1FILI0NS) SLenLbaenen efleurl.
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19. Explainthe various grounds for compulsory winding up.

SLLMWLE SHemeoLINDaTewT LIsoGeum)] SMT6TuIhISensT 65laT8:E&s.

20. What are the various circumstances under which Government may

order for investigation ?

LISOEBTTIIEYE:E& N8 DHEM6TIT QULDIRIGLD LISOG6UM) &([HETITTRISEIT WIMemed ?

*k%x
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AF-1624 BCS4C2

B.Com. (C.S.) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Corporate Secretaryship
GENERAL LAW
(CBCS—2008 Onwards)
Duration : 3 Hours Maximum : 75 Marks
Part-A (10 x 2 =20)

Answer All the Questions
All questions carry equal marks.

1. State the meaning of law.

FLLSPEI OILITIHET SH(H.

2. Define common law.

GILIMGI6UMEDT FLLLD EUemTUID):

3. What do you mean by-federalism ?

FaL L& 6T60TITED 6T60T60T ?

4. What is meant by fundamental rights ?

SlplIienLl. 2_MenLD&ET eT6dTMTeD eT6dTenT ?

5. Give the meaning of interpretation of Statutes.

QFWIFL LI QILINIB6T eflend:asHett OILIMBerlenets & @hs.
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6. State any two external aids to interpretation.

aun@mGeT efensasShane QelsflenT 2 56| PODSET eHTag

BTN F([HS.

7. What is immovable property ?

SNMFWINE TS| 61606V 6T6TTE0T ?

8. What do you mean by usufructory mortgage ?

FEUME60T SHEWLLDITEVTLD ETEDTMITED 6T60TEDT 2

9. What is meant by charges ?

QLINEBL LNeweor QIMMILIL|SHET ET6ITMITED. 6T6dT6tT 2

10. Define Warranties.
2_miBwefili usSId euenIwIm).

Part-B (5%5=25)

Answer All Questions
All questions carry equal marks.

11 a. Enumerate the Sailent features of Indian Constitution.

BB SrfweoenlblILg &1 LSt ADLILNUIEOL|HEm6TES Famis.

(On)
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b.

12 a.

13 a.

b.

14 a.

Write a note on judicial decision.

1588 gleom Wige LD QB GSMILIL| 6TWDEIS-

Explain the characteristics of federal constitution.

Fal' LI HTSILOMIDLIL|E FL L &SH60T SUI60L|S606IT 6l6maHS 5.

(On)

State the various fundamental duties for.the Citizens of India.

BB &serfler LoGaun) SHQLILIEDL 5 SLEBLDSEDETS &(H.

Explain the need and objects-of interpretations of Statues.

QFISL L WINh6TT 6flenéss86iT G56mal LDHMILD GM&GsTsTseme elloms:&s.

(On)

What are the primary rules of interpretation of Statues ?

QFUIFLL GILITIB6IT 6MleT&a5,H60T (LPSH65TENLD 6HHS6IT WiTeney ?

Define-lease. What are the essential elements of lease ?

GS5SMS EUEDIN). GSSSHenSBUI6T AHSHUNEUFILIS FamISH6iT WITeme ?

(On)
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b. How is gift of an immovable property effected ?

SHMFWIT O\FNS5H5 S5 6\&TemL sTevuauTn)] TDLIGHSILGSDE ?

15 a. Briefly explain the various conditions of registration.

udey e\51560l65T LIsBEUM) [BLITHEENEDISHEMEIT Si(h&HEHLDINS 6HlerNE:E& .

(On)

b. Differentiate between mortgage and charge.

SHEBLLDITEIILD LDHMILD EWIMBLLAmETTLI QWITMILIL|&S6m6T CaumILIBS S5,
Part-C (3x10=230)

Answer any three Questions
All questionscarry equal marks.

16. Describe the various sources of Indian Law.

Spdw &1L sHetT SpFnrhisener eflurfl.

17. Examine the various fundamental rights.

LIs0Gaum)] SHigLiLIenL 2_flenLDSEDErT SHImLIS.

18. Enumerate and explain various internal aids to interpretation.

aungst eflensasSmamen LGN 2 6TEHND 256 PennsemarLl

uLwiedl G eN6n&&s.
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19. Explain “Once a mortgage is always a mortgage”.

RUBLPEND SHDLLDTEIILD 6T63TNMEd G| 6TICLMGHIGLD HEMLLDTEUTLD STedr —

efers:@s.

20. Examine the various types of charges.

QLML LAememrLl UMMILIL|&&6rfl6ir LISbEauM)| a1ensSeme T SImiis.

*k*k
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AF-1625 BCS4C3

B.Com. (C.S.) DEGREE EXAMINATION, APRIL 2010
Fourth Semester
Corporate Secretaryship
BANKINGAND INSURANCE
(CBCS—2008 Onwards)

Duration: 3 Hours Maximum : 75 Marks

Part-A (10 x 2=20)
Answer All questions

1. What do you mean by “Banker” ?

GUMRISWLIT 6T60TLIS| LD 2_LD5)| S(hd! Wngl ?

2. Give the meaning of Banking.

aurkIBuTuL6d eT6dTLIS6IT OIINIBEIT &([HS.

3. What is Cheque ?

STBFTE6D 6IETTMITED 6T6dTEMT ?

4. What is Endorsement ?

GLDECO(LPGF6D 6TETTMITED ETEITETT 2



10.

What do you mean by Gift Cheque ?

ufls&en@ameneo LN DG S(h&a WINg| ?

What is Overdraft ?

GL6bEUEILILIDM) ET63TMITED 6T65T6NT ?

Mention the different types of Insurance.

&ML g6tT LIOBEuM) Euen&SHEmeT GHILILIBS.

Define Risk.

BLT-616mT6Ne0s:EH6mTLD S ([HS.

What is Proximity Cause ?

CVB(BEIBIL SHMTETTLD 6T6TTMIT6V 6T60T6uT ?

What is Double Insurance ?

SrrenLs sMUSE eT6sTmed eTebTent ?

AF-1625




Part-B (5%5=25)
Answer All questions

11 a. What precautions should a bank take in disclosure of secrecy of a

customer’s account ?

KRB QUMESHMSWITOTT6N SHetTshe TahSnhisHaner eusflILGSg6uSe0 curhid

6T(B&:8 BEUETITIQUI (LPETTE\6UTE FITlE:6Ma: [FLEUIQEEDSHEET WITme ?

(On)

b.  Explainthe consequences of wrongful dishonour of a cheque.

R STEETENEVEMIL HEUMN|FHE0MS LDMISSICALLB60T sflemereysemen 6fleM&:&s.

12 a. Describe the various types of crossing.

Snevaserfletr LIsoGeum) euenasemenT sllaufgs.

(On)

b. Differentiate between Cheque and Bills of Exchange.

SMGFMEneD LDHMILD LMD MIFF B SpSweunenn CounLIBGSS!S.

13 a. Explainthe Modern Banking Services.

pefienr aurtiBuiluiedlest Gremeugenar eflens:&s.

(On)
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14 a.

15a.

16.

Write a note on Bank Guarantee.

aIrkid ©_sareunsid LHM & GMILIL| euenrs.

Describe the principles of Insurance.

&ML getT GamLLTBsemenT efleurflss.

(On)

Bring out the meaning of Assignment and Nomination.

RUILIENL6)Y DHMILD [BUILDEBTLD SpBWweuniNeT QILITIHEmaT Llevsrils: C\GT6vT(HS.

Explain the various types of Marine Insurance.

SLeo&T STLIIL 65T LIdGeUD)] eUEDSHEDET 6H61T8:SS.

(On)

Explain the termInsured Perils.

SMUISE OFUILIILIC L S6TTETTE0S6( 61631 LIGS 66t 606118 s.

Part-C (3x10=230)
Answer any Three questions

Bring out the relationship that exists between Banker and Customer.

QURIBWIT LDHMILD eumdemaLLimennT SemL Gl _eiTerm 2_meygenar OeuefilILBSgIs.

4 AF-1625




17.

18.

19.

20.

Describe the duties of a Collecting Bank.

61560181 aurkiBwifletT HLenbsemer efleurfss.

Explain the various forms of Mortgage.

SILIDNenSSe60T LISbEUN) QUIREUMISEDET 6161 S

Discuss the significance of Insurance.

SMUILIL1R6TT WPSBUISGIEUSMS eNeUTHea.

Explain the different types of General Insurance.

OWLINGISHTLILIL 65T LIOGEUM) CUENSHSHEDET 6l6TEGSS.

*k*k

5 AF-1625




AF-1616 BCS 1C1

B.Com. ( CORPORATE SECRETARYSHIP) DEGREE
EXAMINATION, APRIL 2010

First Semester
Corporate Secretary Ship
BASIC FINANCIALACCOUNTING
(CBCS—2008 Onwards)

Duration : 3 Hours Maximum : 75 Marks
PART-A (10x2=20)

Answer All questions.

1. Whatis Ledger posting ?

BLIGTL 16D eT(B56185(LDS60 ETESTMITED 6T6DT6DT 2

2. What is meant by compensating error ?

&flaL (BLD S6U)| 6TETTLISHEBT. GILITIR6IT 6T60T60T 2

3. State the features Joint Ventures ?

Semeuor efleweTulesr Se65TemLDEMET oM.

4. What is sale or return ?

sfihLiement (D) HBLILISEL 6T6tTDMED 6T6dTERr 2



10.

What is farm accounting ?

LIGBOTEm6ETT 8> 600185 6T60TMITED 6T60T60T 2

What is Trial Balance ?

BbLIL Bemevs: GNIILIL| eT6TTDIT6D eTedTenT ?

What do you mean by renewal of bill ?

wmhmIsELG UgIiilsseo ubm B Hifleus eredres 2

Write a note on abnormal loss.

SNFNGMT6TOT QL LLD LD GIILIL| 6TLDE.

What is meant by Investment Accounts ?

WPBEOL (B HETTEHGSH6IT 6T60TLISEIT EILITIB6IT 6T60T60T ?

What do you mean by Non-Trading concern ?

eMWIMUIMTLD &I SHemioliy ub) 15 Sinffeug wing| ?
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PART -B (5x5=25)
Answer ALL Questions.

I1. a. Prepare Journal entries in the book of Kumar
2003

January 1 Started business with cash Rs.26,000
2 Paid into bank Rs.45,000
3 Goods purchase for cash Rs.10,000

5 Purchases of furniture payment by cheque
Rs.5,000

10 Received Commissionfrom Kannan Rs.500

&L @s6fle0 GMLIGLILBLI LIe)S6m6rTs: &(Ha
2003

evreurfl 1 aETmled O\GHLMIS GUIMLL (Lp&ed eh. 26,000
2 amduiled \sa5SWs) eb. 45,000
3 QIMEESSNS 516 auhiSws @ 10,000

5 &MBFMTEn6D 6156058 LDEWETT H60fl&H6063TSH6IT
QVBITETLPEHO OFISH] (H. 5,000.

10 sevorenorenliLLO(BbG Sley QLDME) e 500
(Or)

b. Prepare Trial Balance from the following Ledger Balances of
Elango and Bros. as on 31.12.1999

Rs.
Capital 6000
Drawings 1000
Sales 10000
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Loans (Cr) 1000
Plant and Machinery 1500
Land and Buildings 2000
Creditors 3500
Wages 5000
Debtors 8500
Boxes and Labels 500
Rent and Taxes 40
Carriage outwards 10
Insurance 150
Stock on (1.1.1999) 2000
Cash at Bank 1250
Cash in Hand 500
Discount Received 450
Bills Receivable 300
Miscellaneous Expenses 200

E6L QSTBSHELILLBsitar, RehiGaT LTS TerOILLSBHE 6TBSHSLILILL

Bnusefledlmnbg 31.12.1999 sster SmLLMLDES SWlHsea]D.

¢Ib.
WPBH0 6,000
a(BLIY 1,000
eflhLiement 10,000
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&L60T (61) 1,000
QUMPleusnaIULD SUIESTLPLD 1,500
1Be0(pLD SLIQL (LpLD 2,000
SL6TT6NIT 3,500
&660] 5,000
SLevTerflgHeT 8,500
EILILI&EBLD, WaLILE S BaHEHLD 500
eurfluyLb, euM_emauw|Lb 40
F: A NIA(G) 150
6euerflg 61560 Faedl 10
FTLE 615606&6iT 200
1999 sevreurll 1 60 FTSHBIHLIL 2,000
aumBuiled Q&SI 1,250
OIN&Ss eaUNBLIL 500
FLIQWI Sl 450
ewumsHGSMW mbmis F.6 300

Givejournal entries to rectify the following errors:

(1y+ A purchase of goods from Ram amounting to Rs.150 has
been wrongly passed through Sales book

(i) A Credit sale of goods Rs.120 to Ramesh has been
wrongly passed through Purchase book.
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(iif)

()

On 31st December 1995 goods ofthe value 0fRs.300
were returned by Hari Saran and were taken into stock

on the same date, but no entry was passed in the books.

An amount 0f Rs.200 due from Mahesh chand, which
had been written off as a bad debt in a previous year was
unexpectedly recovered and had been posted to the per

sonal account to Mahesh Chand.

N6t 6u(BHLD LNeMIp&HEM6ITS ShSGleushsTen GMLUIGLILE LIS sHemer ei(LgIs.

(D)

(ii)

(iif)

()

oD etedTLeUfILLOBIBS) e 150 DH60T QHMETAPSHE0 HEUM|SHE0TE

eNHLIEHET L|55H5H60 6T(LDSLILILL ).

TGLD6Y ETETTLIOUBES oh. 120 && C\FULS SL6tT efhLisnesr

SOUM|FHE0TE E\BITETALPSHED LGS HEH60 GMISHSLILILL ).

el srer eTeiTLIOUTTED 1995, 31 1RFIDLIT-60 SHHLILNWELILIILILL
&6 eh. 300 &G LILIQUIeNl6d G&T&SLUILILLTEYILD, SH600T&HE60

g IS LILIL 6fl6demev.

PIHEDS LI DETOTIQED GUIIIT SHL63T 6160T LDBE:61Q FIhg SHEM0TEHS6E0
BUTHOSHWSLILILL O\5Tens o 200 erdTLNIns eflsLons

QUPLILILG ES6IQ FIbS HT&HS60 6BS56)5(LSLILILLS).

(Or)
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b. Define Bank Reconcilation Statement. How is it prepared ?
U8} sl (BLD LILIQUI6D 6T63TMITED 6T63T6NT ? eTeUEUTM)] HE)

swflaslL@ang ?

13.a. Prepare a Bank reconcilation statement from the following

particulars :

(1) Credit balance as per pass book on 31.3.1991
Rs.25000

(i)) Cheques amounting Rs.4000 were deposited for
collection but cheques forRs.2000 have been credited
in the pass book in April'1999.

(iii)  Cheques amounting to-Rs.2500 were drawn on
25.3.1999, out of which cheques for Rs. 1500 were
cashed upto 3.1'st March 1999.

(iv) A wrong debit of Rs.100 appears in the pass book.

(v) Bank charges Rs. 25 appear in the pass book but not in
the cash book.

NetreudpLd Gaeuevaserfledbrbg) eurbid FflaL BLD LILIpUI6D Q6iTrlenerts
swnflss ©

(1) eweoGeoLigsimig 31.3.19996b eugey QLI e 25,000
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14.

a.

() eugmedlLEHE euruduTedL 1L em 4,000 wELiLsiTem
&nGamemevs6riled e 2,000 CILIMILDITEST HTEFEMEVSHEIT eILITED
1999 ID55SH60 61560BEVL 16D Qe I

1500 Lo (BGLD LIGTTLDN&SLILILL ).

(i) 25.3.1999 Sietiy EuedIWLILLL @ 2500 EWLMLDiTEDT
&nGanemevgeafled 31.3.1999 euenr eh 1500 LOLBEWD

LIEBOTLDM&SLILIL L &)

(V)  6156bGeoL1g6d Seumment LM LBeY e, 100 eT6st ST BEDS-

(V)  61&60Ge0L 1960 ¢th 25 6T60T 6uMad HLLETLD G MedTlewTmeyitd

6\IN&:3 6T 160 SHMEvUTLILIL 651606060.

)

What do you mean by Bills of Exchange ? Explain its features.

wnpml FG ubm) B Anfleug) wing) / Sigeir ApLiueoLjsener elenss.

How will you convert Income and Expenditure Account into
Receipts and Payments Account ?
6U(HEUMLI 615606M6TTE SHETTEHSEMEI EILIM|FHE0 E1FEISHHISH60 HETMHSHTE

6T6V6UMM)| LDMHNN HEWMLDLILIMUL ?

(Or)
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15.

b.

a.

From the following Receipts and Payments Accounts, prepare
an income and expenditure accounts for the Year ended

31.12.1997.
Rs.

To Balance B/d 1238 By General Expenses

To Annual subscription 1630 By Salary

To Life membership fees 250 By Furniture

To Entrance fees 200 ByRent
To Other receipts 273 By Repairs
By Balance C/d
3591

Rs.
542

550

800

685

150

SLDEHETUIL ILMISE0 61F6Y|5560 H6U0T8E CLPEOLD SUIHEUI E1F606) HETITSHE
31.12.1997-1b Sew1® (PpieefiH& SwimlseeyLb.

¢Ib.
8wmly &6\ 1238
SpeTT(B EFHST 1630

ShUeiT &Ml NeorT HLL6TTD 250

TBI6MLDEYS> SLL 6TOTLD 200
850 aues6iT 273
3591

6ILIMGIE615606Y
FLDLI6ILD
SEDDSEIT
LID&ILIMITLILY

8oLy &/&

erp.
542

550

800

150

864

3591

31.12.1997-6v. FHBST LTSS 6. 350. SHenD&H6ev6tT L5 GSHILDTEDTLD ¢rh

100 61607 H6MTHBD 5.

Amar sells goods to his approved customers on ‘Sale or

Return’ basis at a profit of20% on sales, treating as actual
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16.

sales. On 15th December, goods costing Rs.1000 were sent
to Usha Traders. No confirmation has been received from
Usha Traders until 31st December.

Give the necessary journal entries in the books of Amar.

ST etetiLeurT eflbLiement eflemeouiied 20% eomULD eweusg), eflhHLieweot
SLL wpemmuwied efihLienes QFWSDI. RFDUT 15-S6eTm) . 1000
oL 6iTerT FIHGHET 2 eem  19GILM6V,  ETETLOHHS
SIQIULIILLLG). 1QELDLIT 31 66w 85l / sUBSLIS 2 _6QM
CrLALLS\[BES)I 6THS R 2 MISAMAUD eubg CaTeflcosmev. SiLpifledr

PS560 GMILIGLILIgEd @5 FIDLIBSLDNS SDILILISHEDST  S([HS.
(Or)
Discuss the nature and advantages of Investment accounts.
WPSESLB &H600TEx& SH65TEWLD LDMHMILD [HETTENLOSEHEDET 65l6ud.
PART-C (3x10=30)
Answerany THREE Questions.

The following balances appeared in the books ofa merchant on

31st December 1995:

Rs. Rs.
Buildings 70,000 Creditors 18,852
Motor Trucks 12,000 Bills Payable 6,930
Furniture 1,640 Sales 12,1850
Debtors 15,600 Capital 92,000

Rs. Rs.
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Stock

Cash in Hand 988
Cash at Bank 14,534
Bills Receivable 5,844
Purchases 85,522
Carriage inward 1,291
Carriage outward 800
Establishment 2,135
Insurance 783
Bad debts 613
Audit Fees 400
General Charges 3,950
Travelling Expenses . 325
Discount (Dr.) 620
Investments 8,922
Sales Returns 285

2,41,292
Adjustments :

15,040 Reserve for Bad debts

11

Interest

1,320

340

2,41,292
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(1) Stock on 31st December 1995 amounted to Rs.15,500

(i) Depreciate motors Trucks 20% and Furniture 10%

(i)  Write offa further Rs.100 as Bad Debts and Maintain

the Bad Debts Reserve at 5% on debtors.

(v)  Unexpired Insurance Rs.150.

(v) Interest accured on Investment Rs.120:

Prepare Trading and Profit and Loss Aceount

@ swnmuflufeit s@seledlmbal 1995, 311esbLifled eiG&HSLILLL

BmLLE Gangeme LN6T euqhLDMD) :

LD e
&LIQL LD 70,000
GLDML LT 6UM&6EDILD 12,000
SHEWME606T 1,640
SLevtmerlg6i 15,600
OIN&s emSUNHLIL o88
Ui @pLILY 14,534

eunshGfuw bmn .6 5,844

C\ETETAPSHE0 85,522

Bé&aansd 1,291

gpm\& 6160 Faedl 800
LD b

12

eure)

SHL6VTTEITITSH6IT

O FHSISHGTIW -6
eflLiement

PS60

QUITESL 63T REIHES

Y

eure)

b,
18,852

6,930

1,21,850

92,000

1,320

340
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GLDELITEUITEMLDE 6)F606YSH6IT 2,135

F: A NIA(G) 783
QUIMSEL 66T 613
Sellaens O\Fe s6iT 400
6\1LING)| 615606)&6IT 3,950
BUNHGEUTSGI 615606 325
SeTEhLIQ 620
WPSSBSHET 8922
sflhLiement SpLILILD 285
2,41,292 2,41,292
FiflaL L 60a6IT ©

(1) 3112.1995 sr&dmL ep 15,500
(i)  Gsunomesribd.
GLDMLLIMIT 6uM&6uTD ~ 20%
SlemMBHE060T ~ 10%

(i) eupn&sLewE GayLb B&HWE) eb. 100 QUINSHSLET REIHSHTE
sLeverflg:6lled 5% eIHLIBGSSELD.

(Iv)  weir OFaysSwisiter MG em 150
(V) “eumshefu wpeed® Wee el em 120.

eMwimmT LHMILD EEOMLI LDHMLD [HL'L &E&HETTSHBEHETS SWIMTiEhs.

17. On 31st Jan 1999 the Pass Book of Prabhu, shown a debit
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balance 0fRs.41,000. Prepare a bank reconciliation statement

with the following information :—

(1) Cheques amounting Rs.15600 were drawn on 27th
January. 1999 out of which cheques for Rs.11,000 were
cashed upto 31st January 1999

(i) A wrongdebit 0of Rs.800 has been given by the bank in
the pass book.

(i) A cheque for Rs.200 was credited inpass book but

was not recorded in cash book:

(v)  Cheques amounting Rs.21000were deposited for
collection. But cheques for Rs.7400 have been credited
in pass book at 5th February 1999

(v) A cheque for Rs.1000 teturned dishonoured and were
debited in pass.book only.

(vi) Interest and bank charges amounted to Rs.100 and

were not accounted in cash book.

(vii)  Ascheque 0fRs.500 debited in the cash book omitted
to banked.

31.1.19996b L9 6fll60T 6urkIS O1F60BEO(E SMLlpWwl LIHM| GBLIL e 41,000.

NetreudpLD SaeucoaefiLLSBbE) eurkid srfleasl BLD LI lpu16d Smuirfl&s

(1) 27.1.1999 6b ¢ 15,600 & cuepTWILILILL STGEe60s660
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(ii)
(iif)

()

V)

(Vi)

(vii)

31.1.1999 euewr ¢ib. 1,100 &aimeut HTGFTemev Lo BELD

LIEBOTLDM&SLILIL L &)

6, 61560B6VLIIR6L eih 8O0 &2 HEUMISE0NS LIDM)] 6D6USSE.

61560B6VLIR6D ¢1h. 200 &EITETT HTCHFTEMEL 6UT6Y EMEUSSLILILL ).

SHETTTED ENITTES ETLIQ6V Lidey Q\FUILILILIL 65606W60.

¢h. 21,000 85160t HTEEFTemeD eug60lLILISHSTESH SLLUILIL ).

61560B6vL 16D 5.2.1999 Si6dTm) ¢1h. 7,400 6UT6) NEUSEHLILILLF).

SGUULILLL, HeUdsaLILLL STCETensd (h 1000

61560G6vL 196 DL GLD LIHM)| EDEUSSLILILL 5.

auL'lQ, 6UEIS &1L 650D ¢1h 100 SMI&:S ETL 1960 S6voTeEL LILILL &),

S600TSHSHEOILLILIL 6160D6160.

h. 5008 TTHTEFTENE0, E)IMES ETLIQ60 LIHM) 6DeUSSLILILL S,

aurBuledlL LI efledsmev.

18. JaiJagannath Entertainment Club gives the receipts and payments

account for the year ended 31.3.1995.

Receipts Rs.  Payments Rs.
To Balance at : By Salaries 7,150
Bank 1.4.94 1,260
To Building Fund 19,000 By Books 2,100
Receipts Rs.  Payments Rs.
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To Member’s

Subscription 12,900

To Non-Member Fees 1,200
To Donation-building 5,000
To Interest on Building 1,140

To Miscellaneous receipts 2500

ByRent 900
By Electricity 600
By Telephones 400
By General Expenses 1,700
By Repairto two wheeler 350

By Two wheeler purchased 3,860

By Balanceat.:
Bank 31.3:95 800
Building fund 25,140
43,000 43,000
Additional Information :
(1) In1992 aplot purchased for Rs.8,000
(i) Fees from non-members included on advance
ofRs.50for 1995-96.
(iii) Rent.Rs.50 for April 95 but paid in March 95.
(iv) .Salary Rs.650 for March 95 was outstanding.

Prepare Income and Expenditure Account and Balance Sheet as

on31.3.95.

16
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61231 6YZ&HEITEVITS LDEUTLDELD LDEITLD SHETTENIEHLILI EILIMISH60 6165560

&HE0TEME 31.3.1995 (pigwl TN OSTBSGI6TETS).

6WIMyS6D ¢b.
atduipLly 1.4.94 1,260
sligL BS 19,000
2 miLnfest sBgT 12,900
2_miiflevtgedeomgeurt
&LL6T0TLD 1,200

HETOSTENL-SL Il SN& 5,000

sLigL B3 eul'lp 1,140
2 Sl augey 2,500

43,000
851 efLgmis6iT

(1) 1992 auELLD @ Beolb eunhidwig) e 8,000

1551560

&LDLIGTLD
LSSEHID

6UML 6

LO\63TEMLD
615 MeneoBLIS

61LING)| 61F606)

B[ &S eUNGH6e0T

Ldpsl

B[ F&HBT QUNSHEDILD

QUMTRISLIG)
aubiBulmLILnS
31.3.95

sl B8

7,150

2,100

900

600

400

1,700

350

3,860

800

25,140

43,000

) o miifergeveongeaufiLib QDM Lp6sT LiswoTd 1995-96
ml S DO

SbeT(BSHS ¢h. 50.

17
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19.

(i) eumLews e 50 glimed 95 2 Mwig). OFESSWIS] LDTSLD LDTE O5.

(iv)  swbuemb em 650 e 95 2 Mg OsTEULefN6bsme0. eurey
615606)] H6TE:G LDMHMILD G(BLIL| [Bemed GMILIL| 31.3.95 SistTm)
SwifgeeayLb.

The following transaction took place between Mohan.and

Sohan between 1997 January 1st to 30th June.

1997
January 1
January 10
February 15
March 2
March 3
April 11
April 30
May 11
May 31
June 15

Sold goods to Sohan

Received Sohan’s acceptance at 2
months date

Received cash from Sohan

Bought goods from Sohan

Accepted Sohan’s bill at 1 month

Paid cash to-Sohan

Sold goods to Sohan payable upto
31st May

Bought goods from Sohan

Sold goods to Sohan payable upto
10th June

Bought goods from Sohan

Rs.
1,120

500
600
2,750
1,000

1,000

1,200

750

1,100

1,500

Prepare the account current to be sent by Sohan on 30th June

1997. The rate of interest is 5%

18
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GLonsedT HMILD CFMaDENHE BewLGW Sp&setorL efuImmILd

BeOLOLDOMI, 1997 eevreurfl 160BHSH 30 22¢65T GuemI.

1997

egevreurl

egevteurl

Limeurl
LDITIT&

LDITIT&

erLiyed

eILIT60

@

@

23601

10

15

1

30

1

31

15

BsnaaI5E eflhLeme OFUISE
Gana6iT RUILGHEO erllss &6

B6tor(® DG &61606T0T
GanaefiLLsBBE QUDD OIM&ESLD
GanaeslILLOBBE E\HMETLPSH6D C\FUISHS)

Genaevfledt OMDMIFSL WL MM
11DMg Feuenevorudled

BeMeaI5HE 6\FQISSII OITSHESLD

sflhLiemen O\FUISS) BFNEH6NT SSMaTeot
65Tems 31.GLD 6U6DT 61563I5560MLD

BenaeflLBlBHE O&TETLPSEL EUISSI
226651 10 66D 61LINE558 eflDLIEHET 615Mems

BenaesliLLBHE O\SHTETAPSHE0

1,120

500

600

2,750

1,000

1,000

1,200

750

1100

1,500

GrseTed. BFMEMSHE AsILLL Geustoripul 1997 zgfétt 30-60

PIQEUEDLID HeWTWIMETTBSHSMES HLLILIS SHeTTEHns SWIMTaHsab. Ll

LD ~5%.
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20.

Mrs.VGK sends out goods on approval to a few customers and
includes the same in the sales amount. On 31.3.1999 thesundry
debtors balance stood at Rs.1,00,000. Which included Rs.7,000
goods sent on approval against which no intimation was received
during the year. These goods are sent out at 25 percent over and

above cost price to Jaya Rs.4,000 and Viji Rs.3,000:

Jaya sent intimation ofacceptance 30.4.99 and Vijireturned goods
on 10th April 1999. make adjustment entries-and show how here
items will appear in the Balance Sheet on.31.3.1999. Show also
the entries made during April 1999.

Smwd VGK  deo aumpsamswnarisensd @ULSHH lgliLenLuleo
SIS SHM6IT LIS, SiGement eflhLisment sHevoradieo G s gl eNBESmT.
31.3.1999-6b sLevmeflg6T SbLIL e 10,00,000. Sided 7,000 LodLiLjeitern
®LILge0 GLifled MHepLILLILILL Fr&dei L5g) 6bs efls LISed 6160 QLIMLILILT
¢ 7,000 LPLILIETET FTHGSSH6T HLMKIGLD. RFFTHGSSH6T L SS6femev g
25% eomLILAIL(B 6YZWIT 6T6TLIOU[HES ¢ 4,000 LDBLILIETEIT FI8:&S8EHLD 6flzd

ST6TLION([HES b 3,000 SLIMILDITEST FT&HGSSHEBLD Db@SLD.

QRWIT RIS Sleflsg 30.4.1999 69 LSed 56160 leyiliTeormiT. sfigd
10.4.1999 Sishim) sT6GSmT HIHLIL AL efliLmi. &ifl s G560 LSy
S5%. 31.3.99 et SBLL Beweos GMILILTe0 Beucilevtrhigeir eTevusumm)

GaMeiTMILD 6T6vTs: HITL(B. 6TL1T60 9960 NFUILILILIBLD LifeySHemenniLd &L (Bs.

skkok
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